ASSEMBLY INSTRUCTIONS
1) Dig hole approximately 12" dia x 24" deep.

2) Place 1/2"@ Rod (item C) thru hole in bottom of
Pole (item B). Place pole in the 24" deep hole and
plumb. Support Pole while pouring concrete.

3) After pouring concrete, check to insure Post is
still plumbed.

4) Concrete must cure at least 48 hours before
completing rest of assembly.

5) Install Eye Bolt (item D) in top of Pole (item A).
Secure with the 3/8" Locknut (item E)

6) Slip Pole (item A) over Pole (item B) and line
up the holes. Secure with the 5/16" x 2 3/4" Bolt
and Locknut (items F and G).

ITEM DESCRIPTION QTY
A TOP POLE 1EA
B BOTTOM POLE 1EA
C 1/2" DIA ROD x 6" LONG 1EA.
D 3/8" x 2 1/2" EYE BOLT 1EA.
E 3/8" NYLOC NUT 1EA.
F 5/16" x 2 3/4" HEX BOLT 1EA.
G 5/16" NYLOC NUT 1EA
H PLASTIC CAP 1EA.

THIS WARNING IS GIVEN IN COMPLIANCE

WITH CALIFORNIA PROPOSITION 65: NOTE:

A WARN | N G A Place a block, brick or stone

at the bottom to help stabilize post

BSNSPORTS

a
SRS
>

This product may contain chemicals known to the and prevent it from sinking into the dirt.

State of California to cause cancer, birth defects
or other reproductive harm.

REV. 10/18




